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Chapter 9 Gifted and Enrichment Answers

1. Represent the two inequalities and solve.
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The value for the unknown number is greater than or equal to –7 but less than 9, or 
–7 ≤ x < 9.
2. Let p represent the number of gallons of paint used.
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Ogden used less than 3
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 gallons of paint.

3. a) Let x represent the side length of the equilateral triangle. Therefore, the perimeter is 3x.
51 ≤ 3x ≤ 78
b) 
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17 ≤ x ≤ 26

The side lengths of the triangle must be greater than or equal to 17 cm, but less than or equal to 26 cm.
4. Let t represent Alexa’s current nightly tips. Then, 2t – 25 is in the same range as Bella’s tips. So, 70 ≤ 2t – 25 ≤ 85. Use two inequalities.
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These can be combined into one inequality statement 47.5 ≤ t ≤ 55.

Alexa currently earns between $47.50 and $55 in nightly tips.
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